N = 0l & At & M A

PN ASH
FE: ASH ALY
& FURX CEE-ED
S2A-ZH () - HRAY - BES Ofl & oH JEH Hn&s2Z
o= 336,743 362,639 A 25,896
asHH AHZ ZHI 221,335 242,001 A 20,666
S DNPN| 5,500 6,940 A1,440
FURMXNEEHEZ S 5,500 6,940 21,440
201 L2l 0 1,440 A 1,440
03 A2 Z Hl 0 1,440 A1,440
OFQURNXME WEAE 2A=Z
30,000& = 2AI2t = 03l » 6 & 0 1,440 A1,440
Fo=HA 121,574 140,800 N 19,226
LHHFREA 24,230 39,710 A 15,480
201 L2l 20,160 22,960 A 2,800
03 A2 Z Hl 0 2,800 A 2,800
OJloFZ2at = MEH =S4l 0 1,800 A 1,800
Osds d9E(sH) ni st 0 1,000 A1,000
202 O4dl 1,100 6,750 25,650
01 =2 LHAYI 1,100 6,750 A5,650
OZEHAFEZTELHRFENHI 600 5,850 A5,250
OAMASRNILFE Y| 500 900 A 400
301 LBENZ 0 2,000 A 2,000
09 SALEHIX A S 0 2,000 A 2,000
Osds AY9E(sH) ni st
1,000,000& =* 02l 0 2,000 A 2,000
307 21201 A 0 5,000 A5,000
04 QIZFHALAIR B = 0 5,000 25,000
OUEA =H 0 5,000 A5,000
405 XHoHF S HI 770 800 A30
01 XY 2 ZF S| 770 800 A 30
ozed SEHANI 7 770 800 A 30
FoES2EY 97,344 101,090 A 3,746
301 LPEAS 95,344 99,090 N 3,746
09 HALAHIXI &S 304 4,050 A 3,746
OJIO2S S M= &IHA AHEAZ 0 3,000 A 3,000
OXNZG A 2EE2AM K& 152,000 * 23| 304 550 A 246
OXNSGMBEHEAM =012 B 0HY
50,000& = 10¥ =« 03l 0 500 A 500
AsH A2 FOEHAAMH 31,570 32,000 A 430
A2 FUHAAY 31,570 32,000 A 430
AE FUEHAALY 31,570 32,000 A 430




SN NS
Ha: NS0 ATRE FOUHAAY
S9l: ARD FUBAAY CERED

SN EH - (EH) - HRAY - BES 0l & p/E-T Hl D2
TAIEHI &R 31,570 32,000 A 430
01 A& HI 31,570 32,000 A 430
OO0t AHAIE A Z A 2,900,0003 * 400 & 11,600 12,000 A 400
O==SdF(EX) M 19,970 20,000 A 30
HY2IZH (4sH) 83,838 88,638 A 4,800
Jl23&dl 83,838 88,638 A 4,800
JlE2zl 83,838 88,638 A 4,800
202 044l 30,300 35,100 A 4,800
01 SLHOIYI 30,300 35,100 A 4,800
OJIleg =80l 30,300 35,100 A 4,800




